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between the two needs to be maintained ).

1) Selecting a Source of Finance: There are a number of sources from
where funds can be raised by a company, e.g. issue of equities/
debentures/bonds, borrowing from banks/financial institutions, public

etc. Selection of the source of funds may be done with utmost

care and following factors may be taken into consideration:

i) Cost of funds and conditions attached therewith,

| ii) Charge on assets,
| iii) Burden of fixed charges,
iv) Possibility of dilution of ownership and control, etc.

If a company is extremely particular about not diluting. s
ownership and control, it may altogether avoid the equity route of

“M
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¢ limitation of the

nancing and
ften ignored

Aspects: Anothe
objective 18 that the effects of hi

dl‘ : : od icion areas on market price of shares are O

g \ . | " o o

i cuing the objecuve of pmﬁl maximisation.

while purst . . G
Farlier, an owner manages

in Organisation Structure: e 1
S:mcsm Jone because at that fme the competition Was

; : . ole owner 1S referred as gole
yrganisation structure that has sing! . .
:;.mp:-‘:dor ~The whole profits and liability belongs 10 him. But now, all

the businesses are transforming their structure to compete.

Maximisation
<ation is also known as Va.hle'

i ity imi fits. ! | |
certainty, quality benefits and timing benellis. oal O _
3 maximisaton -« the widely accepted goal of the business as 11_t reconcﬂesthe
' vanied. often conflicting interest of the stakeholders. Also, 1L 1S frce from the
| Jimitations that other objectives are faced with.

I sccording 10 Ezra Sol _
. present worth of a course of action is equal 10 the capitalised value of the
3 How of future expected benefits, discounted (or capitalised) at a rate which

gncertainty or certainty. Wealth or net present worth is the

U reflects the
2 gifference between gTOSS present worth and the amount of capital
! investment reguired to achieve the benefits.”
Sharcholders being the true owners of the firm are entitled to the residual
| profit only. After meeting the commitment to all other stakeholders they get
the remaining. Shareholders ‘claim cannot precede that of any other
 stakeholders. Thus, by maximisation of residual as the objective ‘of the firm,
it can safely be stated that all preceding commitments have been adequately
- satisfied. Pursuit of this all encompassing goals by the firm ensures that the
| st of all d - different stakeholders is taken care of in the process as
| ' objectives of
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W = Net presen mznﬂmnﬁ of ben< f project
Ap = | o |
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C = Cash outlay or ytion rat

K = Discount rate/Ca

alue of mo
It also integrates the time v
’6/)) Tt considers that the Shmmk:;cursi: e s
maximised. . : as
market price per Sh:;m ;:sués in an organisation, a5 i epm:::; S:;ﬂ“ B
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Capfital market. In reality,

ensive fluctuations.

2) Speculation: Speculative business activities lead to variations in price
of shares. Since, an Investor is more concerned about the sﬁfetypr;;d
security of his investment whereas a speculator is interested n
appreciation of his capital and profits.

- 3) Varied Objectives: In every organisation, there are three basic
stakeholders namely Shareholders, Professional Managers and |
Creditors. Thus, agency problem may arise, i.e., managers may place
personal goals ahead of corporate goals.

' 4) Justice to All Social Groups: It is widely reasoned that a business
organisation is not concerned with shareholders only. Employees, customers,
creditors, local societies at large are also associated with the company. A
business firm has to function in the social context responsibly. Obligations of
the company towards different social groups should be honoured.

1.1.9.4. Profit Maximisation vs. Wealth Maximisation
The Profit Maximisation and Wealth Maximisation are two conceptually
different phenomena. The . differences between the two has been

summarised in the following table: 3 :
_‘ ifference Profit Maximisation _Wealth Maximisation

B o The term Profit Maximisation in | The Wealth Maximisation for
simple terms means that a shareholders means maximising
company  either  produces | the wealth of shareholders by
maximum output for a given|way of dividends and valuc-
input, or uses minimum inputs creation of a course of action m
to produce a given output. Thus, such a*manncr.that the ?alm of
|it is optimisation of the input- | future inflows is‘maximised.

output I'CIEHOD.ShlE g

| following S e ula:
S _ following formula:
e Profit = Total Revenue Receipts Wealth = No. of S
i PN Costs . « Current Share Price per Share

] LA,
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rgmng a lot of changes and in the
'::y m;.:;;o. wshe 'S Tesponsible and empowered to carry out the

Raﬁm Funds of Company Finance: The pnme responsibility of a
financial manager is to estimate his/her company’s short-term and long-

term requirements, explore the possibilities of raising funds from
vanous sources and exercising the best available option (the most
reasonable one with acceptable terms and condmﬁns) He/she is
responsible and also empowered to frame the company S appropriate
capital structure.

) Taking Maximum Benefits from Iﬁverﬁge' The Financial Manager
~ has powers to utilise leverages, both ‘Financial’ and “Operating’, to the
maxlmmn advantage of the company. AR

14 - =4 ~an_ §

) !ntematloml Financial Decision: the financial mmagcr of a company

s expected to keep him/her abreast of latest developments taking place
in the international market. The opportunities ayailable in the form of
various derivatives or financial instruments like ‘Credit Default Swap’,
‘Interest Rate Swap’, ‘Currency Swap’, etc., need to be tapped by hn:n
with the aim to make pmﬁt for his company. LR

I,

) Investment Deﬁons The financial manager plays an 1mpm mle
~in “Capital Budgeting’ exercise by applying various available tools and

techniques. Net Present Value (NPV) is one of such technique, which is
P very P"P"m‘ amongst the Financial Managers. This technique includes
! tg'NPVofeach pm];!OSBIOfﬁ given project and comparison
NPV is considered to be the best one.
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Cost of preference share capital K,= 22’0%0;;]:("!):12%

SExample 2: A company issues 10,000 10% Preference Shares of T100

Seach. Cost_of Issue is 2%. Calculate cost of preference capital if these
¥ chares are issued (a) at par, (b) at a premium of 10%. (c) at a discount of

5%.
Solution: Cost of Preference Capital,Kp =£

NP
Preference dividend (D) = 10,000 Shares x ¥100 x 10% = ¥1.00.000
Net proceed (NP) = Face value — cost of issue

= 10,000 Shares x ¥100 — 20,000 (10,000 Shares x

100 x 2%)
. . 1,00,000
Cost of preference share capital K = —————————~ 10
¥ ﬁ ®10,00,000 — 20,000
= = 10.2%
d at a Premium of 10%

>reference dividend (D) = 10,000 Shares x ¥100 x 10%
k- = %1,00,000
) = Face value + premium — cost of issue
= 10,000 Shares x T100 + ¥T1,00,000(10.000
Shares X T100 x 10%) — 20.000(10.,000
res X X100 x 2%) ‘

capilt
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: It is also known as ﬁvxdmd-Pﬁ“ ratio and
e «dividend per share’ by ‘price per sharc’. [t
. T:vidino ‘total dividend payment by a company
also be oDIAINCE T vided there is no change in
g g | cﬁplwhsatmn Pmcentage
a per ’
Wghham It is indicated as a pe€ 5

ymbohcally, Cost of equity capital K. = P P

_ Cost of equity capital

g D = Expected dividend per share

NP = Net proceeds per share
MP = Market price per share

' hile using
is a presumption, wh

s (investors), dividends are
Sllm‘:h0];ltlﬂal:n:'n.lt the company remains the same.
W]' - B

dividend of 325 on each equity
/arhnle 4: ABC Ltd. has distributed di g Bl o

‘ f equ1
8 , 0. The current market price 0
] Sh w:tf :f] equity as per dividend yield method.

D
| = —Xx100
Solution: K. e

E;pm dividend per share (D) = %25
Market price per share (M) =360

25
i =27 %100=41.67%
Cost of equity capital K =—x100

Plus G 1 in Dividend Method: The b L
pti ofasntuatmn mwhwhmerelsa.mth.qfa
ussharesmws an increasing

........
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minimum rate of return required to

1wl

share” is the cost of equity Capita]; it
by applying the following formula:
Euningwm(l’f‘)ﬁtaﬁﬂ' 1x/Ontet- -
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S anmable debentures has no responsibility with
rment of the debt at a predetermined date and time. It
. 0o mcbc:de the time and dates to pay back the amount of debt
ong as it is @ going concern and does not fails to make interest

- whﬂecompunngd}ecnstofmedeemalﬂcdebentlmonlyttm
ount is taken 1nto consideration.

Cﬂ of Irredeemable Debts before Tax: The following different
mﬂbmwphedforthecalculanonofmstofmedeenmble

(perpetua s issued at (1) par, (ii )pmmmmordlsamm.
hdeemnbledebt,mdatpar
= |

ere. Ks = Cost of debts
- 1 =Fixed annual interest payable

&Amysdlsu&ﬂmofl%medemble
t par to raise ¥2,00,000 and realizes the full face value
t is the cost of debt to the firm?
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' A company raises ¥2,00,000 by the issue of 107

Bt T100 each payable at par after 10 years. If the tax rate i
at is the cost of debt to the firm? e

K‘ =-ﬁ—IP—)(la(l—t)

W wed annual interest payable (I) = 22,00,000 x 10% = 220,000

MFM(NP’:?ZUMND

20000 100(1-.50)=5% -

" B/RV = Par Value/Face value /Redeemable value of debenture
.”, ;-: : _—.:_-_'__:,_. 2 - - o = at ‘ - Il me m or the bond iS Sﬁld
: : .-'.‘;:::: 2 g Ly ..a. --"‘l _ A .I:: i .

i | r
¥ =, =
§
% il
i . .
= L F; I e . -
e , AR, - 3 =
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" be the rate of return, which the
| c'tﬁ'" "R i | E i ss. will be
“In other words, cost of ‘Retained
“the opportunity cost of additional dividends, the

. 'ﬂle ‘Retained Earnings’ had not been set

ider for the payment of dividends.

oo of the cost of ‘Retained Earnings’, following formula is

""i-.'_ . F kl |.|- 1 ‘-

ol LS

fi;'((,(_l_)_-;-(})x(]—t)x(l-b) or K, =K, (1-(1-b)
PR NP

. K, = Cost of retained earnings
D = Expected dividend
G = Growth rate
NP = Net proceeds of equity issue
i l'at: hasing securities, or brokerage cost
v ?(:_—-f: lg:tt: otP l:erfum avgailablc to shareholders/cost of equity capital

A firm’s K. (return available to shareholders) is 15%, the

! i it i ted that 4% 1s

tax rate of shareholders 1s 60% and it is expeck ! :
cost that shareholders will have to pay whl_lc mvest}ng :hcu'
. dends in alternative securities. What is the cost of retained earmings:

ion: Cost of retained earnings K, = K.(1-t)(1-b)
Wi .re, Cost of equity capital (K¢) = 15%

_ t) = 60% or .60 ik
= E ) -hasing securities, or brokerage cost (b) = 40% or .40

ne: it i)
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AT

% debenture

y find d out: weighted average cost of capital of existing as
\pita’ suucture

Etion of Weighted Average Cost of Capital (K,)

25 Amount | Weights | After Tax Cost Weighted Cost '
| ) 1 ) | ) (Te) (5) (%) =(3) x (4) |
Fordinary Share 50,000 0.59 5% 2.95%
m-shm 20,000 0.24 10% 2.4% |
| Debentures | 15,000 0.18 | 12% 2.16%
85,000 1.0 | 7.51% |
Weighted Average Cost of Capital (K,) 7.51% |

) Cmtamm of Weighted Average Cost of Capital (K,)

i | Amount | Weights | After Tax Cost | Weighted Cost |
o @@ | ) @ (%) | () (%) =0)x @
50,000 0.5 5% 2.5%

20,000 0.21 10% 2.1% |
15,000 0.16 12% 1.92%
10,000 0.11 | 14% ' 1.54%
95,000 1.00 | - 1 T R06%
Average Cost of Cagltal Ko) | 8.06%

<

8,00,000

5,00,000

Sl
- a LY
______

—a®
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Particulars
EBIT/Operating profiy
Less: Interest on debentures

Pref. dividend (

: pre-tax basj
__Earnings before tax (EB-;)S »
I.ﬂtereSt on debentllre
Pref. dividend ( pre-tax

:' ..'.;'_.
: _r!- =

= ¥l,25,(m x 8% |

"
‘r

S

iy
"

.= BN
. =
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- Lex (D( L)
Cont butlon (Sales — Variable Cost)
Earmncr before int erest & tax(EBIT)

Where,
Contribution = Sales — Variable Cost =350,000 — 325,000 = 25 000

EBIT = Sales — Variable Cost — Fixed Costs (other than interest of 5 000;

= 50,000 — 25,000 — 10,000 = <15,000

Thus. DOI. — 3%-000-25,000 25,000

15’000 — 15,00_6- =167 times
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